Ex/PHIL/PG/1.1/2023
MASTER OF ARTS EXAMINATION, 2023
(1st Year, 1st Semester)
PHILOSOPHY
[ Logic (Indian) |

Time : Two Hours Full Marks : 30
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Answer either in English or in Bengali.
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What does ‘ vyapyatavacchedaka-prakaraka-

paksadharmata-jiiana * mean?

State an example of anumiti which is not preceded by

‘vyapyatavacchedaka-prakaraka-paksadharmata-

jhana’.

A person possessing the cognitions * glokavan

parvatah’  (the hill is lighted) and

‘vahnivyapyadhimah ’ (smoke is invariably pervaded

by fire) does not have the inferential cognition

¢ parvato vahniman’ (the hill is fiery). Explain why.
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a) Inwhatsenseis the expression ‘ sadhyavadanya ’ used
in the first definition of vyapti 7 Explain.

b) Bring out the importance of the following of
instruction  Nyayasiddhantamuktavali: “ yena
sambandhena hetyta tenaiva sambandhena
sadhyavadan yavnttitvam bodhyam.” 5+5
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. Show how the first definition of vyapti fails to cover the

following case of inference :

“ ghato’abhidheyah prameyatvat .” 5
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“ hetuman-nistha virahapratiyaogina sadhyena
hetoaikadhikaranyam vyaptih’ — Apply this definition

in case of a valid mark to show that it is free from the
fallacy of under coverage. 5
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Discuss the significance of the term ‘sattva’ included within
the second characteristic feature of a correct probans. Why
is the term ‘eva’ used before the term ‘sattva’ here? Explain
with an example. 5+5=10
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State the third characteristic of a correct probans. Explain,

with the help of a suitable example, how the presence of

‘eva’ in this characteristic solves a fallacy of probans.
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Discuss the difference between °sapaksa’ and

‘asapaksa’. 5
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Discuss how Buddhist logician Dharmakirti determines

the nature of ‘anupalabdhi’ as a probans. 5
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